B[ BN~ —EZx (FHEBAE V08 F—LIEME 4/678)

1 B 1) = g 2 B 1 = i i 2 &B ) = vi =]
I F—L%E B |emlamlos |2mli5 | 1mlom|sm| |mw F—L%E B |emlamlos |omlis | 1mlom|sm] e F—L%E R |em| 3 218 | o] |
1 [#—8k 24 [ 3|2 1 1 7 1[sa 23 | 2|3 3 3 11 1 [EAL 27 4 2 9
2 |£EOKACH 15 [2]1 2 5 1 |®itXF0oB 23 [ 2|3 7 12 2 |A—NLELEX 18 4 3 8
3|ya— 15 | 1] 2 2 5 3|Rits 21 | 2| 2 2 1[1] 8 3 |[FE¥XK0B 16 3 3 10
4 GEEXE 15 [1]1 3 1 6 4 | O&KIFA 20 |14 1 1 7 4 | XBFFILEA1 14 2 1 5
5 | HEEE 14 3 2 1 6 5 |BRK#Z 20 |13 4 1 9 5 |IBEF 13 2 3 7
6 |BER 14 2 4 6 6 [FSDIR 18 [1]2 3 1 7 6 |FTE R ERER 13 2 2 7
6 [A—JILEHEHA 14 2 4 6 1|1€27— 16 1]3 2 6 7 |EE 13 6 7
8 |lI&#a 13 2 2 3 7 8 |AXREHE 16 | 1|1 3 2[1] 8 8 |REHOEN 10 2 2 4
9 |A—ILEX 10 3 1/1] 5 9 |kFHEV&KE 13 2 3 1 6 9 |IIERER 9 2 5
10 |fRSEROB 6 2 2 4 10 |$8OKAC2 10 1 3 1 5 10 |5 ERFHED 9 4 6
11|FVHES 3 1 1 11|HY 10 1 2 3 6 11 [FEREOB 8 2 4
11 [—#BKRKEO0B 3 1 1 12 EHEE#H S 7 1 2 3 12| RIKOB%E 2 1 1
13 |$L#5 2 1 1 13 [{EEkiE S 7 1 1 2 4 12 | B 2 1 1
14|RG 1 1]1] 2 14 |EFEXEWLA 5 1 1 2 14|C&CEXY 2 2
15 |SAfS C 1 1 1 15 |EEERBI=H 0 0 15 im0 B 0 0
16 |MAEGAO 0 0 I5|NEC 0 0 15 | RES 0 0

XEY—F 14L&, Y—JBRICHEA1 2BM. 2460&BR0.5, SAEMR0.2, 4 4£(XB/R0. 1458
KEF—LEE7RDEAHAICKYIERLZRET S (£BE5R. 3—1X3/. 2—2F 2/, 1—8(F1/&., 2.5-1.5(2. 5/, 1.5-2.3.5[x1. 5ATHE)
XRADBEX, 2HBFOAE. BICRAOBEEI—1DOABOEVWF—LEZLEELT D (BICRADBAE, 2.5-1.50ANHOEVWF—LEEMLET S LITR&)

3 B 1) — i i 3 &B 1) — vi =]
I F—LE B |emlaml2s |omli5 | 1mlom|sm] e F—LE R |em|3m(25 | 281.5 [ 18] oms| S|
1 b FEFEREK 24 | 2| 4 2 2111 1 |[TOKATU 21 |14 4 9
2 [[ERFHEE 19.5 [ 1| 4|1 6 2 [MERE 19 5 3 1 9
3 |£OKAC3 19 [1]3 2 1 7 3 |EHE343%F 14 3 1 5 9
4 (AXBES 12 1 3 411] 9 4 |{AAEBOB 12 |1 ]1 2 4
5 |%iEn 11 1 3 1] 5 5 |fEiEE 12 3 1 1 5
6 | 10 |1 2 1 4 6 | 79747 11 2 2 1]2]7
7 [dtXFHoB 10 1 3 1 5 1 [IEA%E 11 1 3 2 6
8 [EKWLY R 10 5 1] 6 8 [JPHH 9 1 2 21| 6
9 [BHELKTR 9 1 2 1] 4 9 |B3L 9 2 5|1] 8
10 [XBFFILE2 8 2 1 1| 4 10|)a—2 8 1 2 1 4
1 |HhELTS 6 1 1 2 11 |BEFESOL 7 1 2 3
12 [# EKm 4 2 2 12|LEREER 6 1 1 1 3
1B|EXKFv T4 3 1 1 12| TKD 6 1 1 1 3
14 [BM#ES 2 1 1 14 | EElXOB= 2 1 1
14|+ H 2 1 1 15 [EBKRE 1 111] 2
16 (I AFHE 1 1 1 16 |P P K 0 0




B[ BN~ —EZH (FHEBAE V08 F—LIEME 4/68)

4 B 1 = vi i 4 &B 1) = vi =]

IS F—LE B |emlamlas |omli5 | 1mlom|Sm| et F—LEZ R e8| 3m(25 |281.5 [ 18] oms| Sl

1 |BR#ME 2 |14 1 2|1] 9 1 |[2#2008 21 |14 3 2 10

2 |Rk#E309 20 6 1 7 2 |REHAHY TS 15 3 3 6

3|NEC%2 19 [1]4 1 1| 7 3 |HKoB 13.5 1 401 |1 7

4 [HTRAY 16 | 1]1 3 2 7 4 | HEHBHEBS 13 2 2 4 8

5 |XIEDiREE 16 2 6 8 5 | FEIKXOB 12 |1 3 1 5

6 [NTT 14 [1]1 2 2 6 6 |HIZIAMS 12 1 4 1 6

7 |NEBY 12 [ 11 2 1] 5 7 |W~F Ll 10 |1 |1 1 3

8 | FH 10 1 3 1[1] 6 8 |ESHVLET 9 1 2 2|1] 6

9 |SONY 10 5 5 9 [FMA RA#MERE 8 1[1 2

10|FT ALY b 9 1 2 3 10 RS EOD 8 4 4

1 |BRK& 2 9 1 1 2 4 1 | ¥BRERE 3 1 1 2

12 |[FrTER BN 9 1 2 2 5 12 | BERHER 2 1 1

12 |RE - B3l 9 1 2 2 5 13 |Hf S L — 1 1]11] 2

14 |AM#EE 2 5 1 1 2 14 |HITOK I 1 1 1

15 (WA RM 3 1 1 15| R34 0 1] 1

16 |ARPBOEZE 1 1 1 1 16 |E*¥RAOB 0 0

17 (L3 2 A 0 0

17[TOHO 0 0

5 B 1 = i i 5 &B 1) = vi =] 6 &B 1) = g

IS F—LE B |emlaml2s |omli5 | 1mlom|sm| e F—LE B |emlaml2s |2mli5 | 1mlom|Sm| |m F—LZ R e8| 3m(25 | 281.5 [ 18] oms| S0l

1 | dbFELFES 16 11 3 3[1] 9 1 EHLG 21 1] 4 2 2 9 1|HSY28 15 11 3 1 (1] 7

2 |B8hA—FkJL 15 [1]1 3 1 6 2 [BHAS AKI 19 5 2 7 2 [A#LOKI 2 14 2 3 2 7

3 |[BANGEE 12 1 3 4 8 3 |—%5F& 17 4 2 3 9 2 |EGEL&SE 14 2 3 5 10

4 [A—LHE 11 5 1(1] 7 4 |68 16 [1]2 2 1 6 4|2x7Y—P 12 1 3 3 7

5 |1=1F7FS5 10 1 3 1/1] 6 5 |EIEEA 16 4 1 3 8 5 | XKBFILES 11 2 1 3[1] 7

6 | KEREEH 10 1 2 3 6 6 [EniEKOB 15 11 3 1 6 5 |[ARF—ER 11 2 1 3|1] 7

7|NES 10 4 2|2] 8 7 |BAaTCP 14 3 2 1 6 1 | KB&%=E 11 1 2 4|3]10

8 [F—IEED 9 2 1 1 4 8 [F—ILKRE 13 1 4 3 8 8 [HAE 9 1 2 2(2] 7

9 [MENELE 9 1 2 2 5 9 | BEDLOE 12 1 3 3 7 9 |BEXET1— 9 4 1]2] 7

10 |FAESST 7 1 1 2 4 10|J P3#B 11 2 1 3 6 10 |F#t v b 8 1 3|1] 66

11 |BERE 6 3 3 10 |5 L 11 2 1 3 6 11 | EHE21 8 3 2[1] 6

12|C&CHEH*2 6 2 2(2] 6 12(9—=9 )« 10 3 1|15 12 [ABDEZE 2 7 1 2 3

13[hFE 6 1 4121 7 13|FTRARY 2 10 2 2 4 13 [HRSEPOP 7 1 1 2|1] 5

14|EXFTU—> 5 2 1 3 14 [BRARIL ~/ 9 1 2 3 14 | F T 6 1 1 1(1] 4

15[ <2 3 3|1 4 15 |HhEBL£1 7 1 2 3 15 [BRFEXKBL 2 5 1 3 4

16 | FTEASDE 2 1 1 16 [REXKOB£ 4 1 2 3 16 [EX@ESSL 4 2 1] 3

17|JREBA 0 0 17 /hEHHRS 2 1 1 17|88 (Vh) 3 3[1] 4

17 | I KRFE/NE 0 0 18 | R & 0 0 18 |[RAHOK I 3 2 1 2] 3
19 |23 Xk 0 0
19[(R¥9 57 0 0




